fArg—a=roe HET— X1 THE—3.15 °OCT

CEE g B ER e I I LG Hifereen , T 1
I AHITAr T

EIGELD E0% 20% 20% 10% 100%

T 10

1 1
o = B 1 8 8 1 B
AT 591 10 1 2

TeTeE T — 1

Il ER ] e R EE

B
g, 990 — 11 B

s | s

T T 45 70 45 100

We— 1. I==¥0 ¥ W&l § 5 WaWd 9% + T — T U TE9 ¥ ey Wl o wem f
ST TR o T | 2. e T & SRR 9T WE AOEOe w9 W T B

WO g 3w AT

frro—a=rom=s TET— XI MHE—3.15 °YCT

|

e T @ @l AN T

TS o T6 99T 10 4

in |

2 HAA T = E 9059 7 IR EEaE] ;. i)

10 5

Gl G s R i Lo

ki |3

GEE i Tl AT e 10

(L o

AT AT SEaT 3

—WEIAYA &1 4

1 TE B AT aE ATl e o 5 10 4

z TET T TR TR § Seue o 5 10 s
ARTE e

3 FATET AT FH 10 3 4

AT TArmEne| T qRod

£3

.

in

WITETT WEhE T 24

EREEEaIE 10 10 70 10 100




